[ Efficiency vs vertpos |
- 05

20.45

g
2 04

1072 10 1 10 0?
TP vertr (cr%)

—s=— DQM_mkFit_baseline_lowPT

Effici B — DQM_mkFit:baseIineGiter_IowPT
ICIeNd __,__ DQM_mkFit_TT_RetrainV2_WP2_6iter_ep3_lowPT

0.8

N n
o - : : : : ]
> 0.7 bRl EREEEEEREEEREE R 1
[} r . . . . .
Z u : : : : :
& 0.6 Beleeqeedeeeennn Beeeeees Jeeeens E EERRREE
c o : : : : !
[} o : : : : :
(8] ... [ T L [ S
g OSp iy
o E : : :
Ol AR
0gf -
ozt
RN B 1
SN LA f*i?fﬂ.l....i....

Ratio
P
iy
T

-30 -20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |
~ 05
>
Q. 0.45
IS
5 04
£0.35
0.3
£0.25
5}
0.2
0.15
0.15-}1
0.05F

OIIII
LAffof

.................................

lency

.................................

1|||||||||||||||||||||||||||||

.................................

Ratio

L2ff -

e G .
[
— e

1

10 15 20
Sim. PV z (cm)

o
I
o1
o
o1



	Contents
	Page 1


